What I¢ the Begt Way To Become an Agtronaut?

iR Choose the correct anawer for each exercioe and clrcle the number-letter pair next
" Yo it Write the letter in the matching numbered box at the bottom of the page.

Set 1. Simplify. Set 1 Answers
.12 +(5 - 9) d.’ (-5)}-4)(-18) 27 420

15 38
b. -7(~1 + 8) e 16 - (-3 — 8) 8 992
| 52 @RI -49
30° -360
Set 2. Simplify. Set 2 Answers
Q. (-3:4) +(-4-8) d.100 - (~50) + (-25) 99 -125
12 110
b. (21 — 30){~12 + 1) e. (-30 ~ 30) + (-5) 20 24
m o -—17
125 15
~ Set 3. Simplify. Set 3 Answers
-13 + 5 ~140 _ 140 XY -30 €I 4
 *T3-15 4 =1 * o €
| - 135
b, (-2)%-10% | e. 5(-3)3 12 -140
(8)-8) P 15 1600
IR RIS R -24 2000
Set 4, Evalvateifa=-5,b = -8, and c = 2, s_et'4An§wars _
| d. 2b ~ (=c) -7 20
| 123 -14
e.ch’+a EREED) 130 25
- 80 -11
-80 -3

€. 20 - {(-3) + 15 f. '[—2 - (9] + 75

¢. (-5)3-1)° f (64 +8)+(-81 +9
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